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Instructions : All questions are compulsory.
(i) W a1 D qm - (37) § agfameda we qu um-(9) A
faa @ # 9fif €

Question No. 1 contains two sections—in Section-(A) Muiltiple choice
questions and in Section-(B) Fill in the blanks.

(i) WE-97 ©: @odl | fawifea €1
Question paper is divided into six parts.
(iv) W %HIF 2 ¥ 6 T Afaagewd e ¥, fwa wee-dm 30 v ¥

Question Nos. 2 to 6 are very short answer type questions whose
word-limit is 30 words each.

(v) W iR 7§ 11 7 sifregEada ve & fet we-g so R R
Question Nos. 7 to 11 are very short answer type questions whose
word-limit is 50 words each.

(vi) T FEF 12 A 18 T g W ¥, Fowa wR-d 50 v ¥

Question Nos. 12 to 18 are short answer type questions whose word-
limit is 80 words each.
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(vii) W W% 19 § 23 aF Defawiig weq §, et wee-dimn 130 v 3

Question Nos. 19 to 23 are long answer type questions whose word-
limit is /30 words each.

(viti) T IR 24 T 25 a5 iy weq &, fams) weg-dimn 1s0 o= &)
Question Nos. 24 and 25 are long answer type questions whose word-
limit is /80 words each. :

(ix) Al famen FrmERr fou o &

Internal choices are given as per rule.

©UE - (A) / Part - (A)
(TS 9 1 SF F?)

(Each question carries | mark)

we-1 (31) WE e e fafau [1x5=5]

(A) Choose and write the correct option :

() TR O g R d

(37) ITE-3TE (%) & 3=

(&) (80 3R (&) A (3) w4 4w T

The body makes an angle in the run cycle :

(a) Different (b) Similar

(¢) ‘a’and ‘b’ both (d) None of these
(if) ITufes® HaR & ;

(37) =it oA () TN

(8) =& & FEvE (3) IwT avt

Non-verbal communication is :

(a) Body language (b) Gesture

(c) Facial expression (d) All of the above
(i) A fag= e

(37) vifz &1 w9 (%) wrdar &

(&) o fesmga () I wsft

Principle of posing is :

(a) Staging of the Shot (6) Line of Action

(¢) Pose Design (d) All of the above
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iR w faaa ®

(37) TR (%) qEgEA (TEEETA)

() Ef () We=mE
Principle of animation is :

(¢) Animate () Anticipation
(¢) Rendering (d) Production
IS, Sl WIEFHE Hl SE ¢ ¢

(&) T SR (a) fafem =
(7)) M H (%) T & =
Example of quadruped walk cycle is :

(@) Aperson (b) Bird

(¢) Horse (d) None of these

(w) fo = #) R R

(B)
)

(i)

(iii)

(v)

v)

Fill in the blanks :
faf@d g9 % T a0% $ w9 F s ¥

Written communication is useful as a way of ___.

WA UEE UF =S el i ISR ¢

Power point is an example of good ___ presentation skill.
AUEFA N U T g

The runner’s feet do not always touch ___ in run cycle.
QffT Rl F |t T

Posing is divided into ___ steps.

_ faug fawar @ie & fa Ctrl+O 77 S |

Press Ctrl+O to open the mixer ina ___ window.

¥ueg - (¥|) / Part- (B)
(T T 2 3 FE)

(Each question carries 2 marks)

foret T AR FH D & F I S

Give two examples of the face expression of a character.

AT W 1 0 W e (FPS) A Rt smEa ¥ 2

How many frames are there in 1 frame per second (FPS) in Indian animation?

[1x5=5]

[1+1=2]

[2]
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9T-11

UF-12

(4]
T w R Ad §?
What is the meaning of Squash?
CC 3R BCC =1 qu 9m fafae |
Write the full forms of CC and BCC.
qEHUq 9 &1 fad T31

Draw a picture of smiling face,

@Ug - (¥) / Part - (C)
(T WY 3 S HR)

(Each question carries 3 marks)
v fifén Q@ ao /= g #2
What do you understand by track reading?

woEn (faege)wm ?

What is silhouette ?

g g w2

What is cyclic motion ?

I+ fyeg wfea s/ 2

What is advanced acting process ?

Wi FifE @ a9 = wwen ¥ 2
What do you understand by physical mechanics ?
@vs - () / Part - (D)
(Y U 4 FAF F )

(Each question carries 4 marks)

Al el H FHiae Nio-1 3R fate & ofm fafaw)

2]

[1+1=2]

(2]

[3]

[3]

[3]

[3]

[1+1+1+1=4]

Write the difierence between contact pose-1 and recall in the walk cycle.

sraar
OR

T 9 3R At gree § sia fafag

Write the difference between run cycle and walk cycle.

M-77



Tgt-13

uF-14

q1-15

U91-16

5]
HuR # W Aftrat = ¥ ? awEe [1+1+1+1=4]

What are the major categories of communication ? Explain.

arerar
OR

AR 22X (ATl 1 T @ 2 HeE

What is the cause of break-down in communication ? Explain.

wﬁﬁmﬁaﬁwﬁrﬁaaﬂtgﬁmﬁmwmﬂ?? [2+2=4]
What do you understand by exaggeration and anticipation in

animation ?

sferar
OR

mmﬁmmmmmﬁmwmt?

What do you understand by overlapping and transfer of weight in

animation process ?
T A e T wE it yiw = fafa) [1+1+1+1=4]

Write the process of importing audio into Maya.

srar
OR

=T dvg B AT FT % o fefem

Write down the steps to animate the blend value.

ferg-fm Sl saffeT =) T | [2+2=4]
Explain lip-sync and blocking.
eaar

OR

J-a7r32 iR dreen () * aTEEY |

Exp!ain lay-out and planning.
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uyT1-17 vfﬂﬁmﬁm&waﬁmﬁﬁmwmﬁraﬁml [4]

o-18

q¥1-19

w1-20

Describe the relevance of attraction in animation.

rerar
OR

A F stfireste ge1 @ avh wifs

Describe the expressive pose in animation.

T WIS i 9RRET B G8Y & ") [4]
Explain briefly the process of walk cycle.

s3erar
OR

St Yee = %t whkn = g8y ¥ guemEg)
Explain briefly the process of quadruped walk cycle.

@Ue - () / Part- (E)
(T U 5 3FF w1 )

(Each question carries 5 marks)

TS TR 39 W0 o | 1@ 9 o R wie el 9 gmEmE
[1+1+1+1+1=5]

Explain any five things to be kept in mind while giving a slide presentation,

sferar
OR

Zeirer faerar ) foree ot fargall & wommey

Explain telephone etiquettes in any five points.

é—ﬁa%wﬁﬁwmwwwnmzﬁgﬁ%wm
qasu | [[+1+1+1+1=5]
Describe five ways to create a good impression while
communicating via e-mail.
3erar
OR
wffshan & wee H Ui fargedl & wwsmEy

Explain the significance of the feedback in five points.

M-77



T-21

Te-22

Wyi-23

u9i-24

171
witee & atfig 3R I F) Ry F @ el i =ren R
[1+1+1+1+1=5]
Explain the relationship between acting and facial expression in animation.

arerar
OR

T § | atfirar W 1 Wi 9 et SIS

Explain the process of pushing the limits performance in animation.

'grEfdT afel TR’ SR F 4w S T [5]
Explain the process of creating ‘bouncing ball animation’.

arerar
OR

SEEE CRUL e L EE IR E

Explain the process of creating a pose-to-pose animation.

IR Yot = ¥ SEeiEa H FuA Hif [5]

Describe the observation of quadruped walk cycie.

arerar
OR

=15 F AR TR ¥ fafe= i @ nif &t iR S

Describe the movement of various body parts during gait.

Qug - (%) / Part - {F)
(WF U 6 3TF FE)
(Each question carries 6 marks)
HfF WEEe F R 3 gu R ¥ aiF s w o R [2+4=6]
Define walk cycle and draw the figure of human’s walk cycle.

rerar
OR

o e F a2 gu st F T s & e R

Define run cycle and draw the figure of human’s run cycle.
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UFT-25 mmmﬁﬂwmwﬁmmaﬁﬁmﬁmﬁm%?
BLEIEY .

How to apply any three animation principles in advance acting

animation ? Explain

yar
OR

mmﬁmmﬁmmmwmmmﬁ
TRy |

Explain three useful settings which are needed to be set before going
to render an animated scene.

oooooooooo

[2+2+2=6]
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